



Internalizing and externalizing symptoms association with insomnia, SRMDs, and parasomnias in an ADHD sample and moderating effects of parental characteristics[☆]

Maria Grazia Melegari^a, Michele Scandola^b, Martina Giallonardo^{c,1}, Michela Vezzoli^{d,*}

^a Consortium "Humanitas", Rome, Italy

^b Department of Human Sciences, University of Verona, Verona, Italy

^c Independent researcher, Italy

^d DISTUM, Department of Humanities, University of Urbino Carlo Bo, Urbino, Italy

ARTICLE INFO

Keywords:

ADHD
Internalizing
Externalizing
Sleep problems
Parent emotions
Parenting strategies

ABSTRACT

Objective: Sleep symptoms are highly prevalent among youth with ADHD, yet their heterogeneity and links to co-occurring emotional and behavioral symptoms remain poorly understood. This study examined, within an ADHD sample, how internalizing and externalizing symptoms were associated with sleep symptoms reflecting insomnia, sleep-related movement disorder (SRMD), and parasomnias. It also examined the moderating role of parents' emotions and strategies.

Methods: Parents of a national sample of 1,086 children and adolescents (ages 5–18) with ADHD completed validated measures of sleep symptoms, internalizing/externalizing symptoms, parenting practices, and parental emotions. Sleep outcomes were analyzed using binomial generalized linear models. Additional mediation and moderation models were conducted.

Results: Internalizing symptoms were the strongest predictor of all sleep outcomes, whereas externalizing symptoms showed more selective associations, emerging mainly for SRMD and parasomnia symptoms. Mediation analyses were consistent with an indirect association of externalizing symptoms with insomnia through internalizing symptoms, whereas for SRMD and parasomnia symptoms both indirect and residual direct associations were observed. Parenting effects were selective: positive parenting attenuated the association between externalizing and SRMD symptoms, whereas negative parenting strengthened the association between internalizing and SRMD symptoms. Positive parental emotion attenuated the association between externalizing and parasomnia symptoms but strengthened the association between internalizing and parasomnia symptoms.

Conclusion: These results are encouraging in suggesting a transdiagnostic approach aimed to better understanding the mechanisms underlying their relationship and to pave the way for the development of more refined and novel therapeutic approaches.

1. Introduction

Sleep problems are one of the most common disorders among children and adolescents with ADHD. Using objective and/or subjective measures, previous research in the area have primarily demonstrated that children with ADHD report higher rates of sleep patterns (e.g., reduced sleep duration) and sleep disturbances than the general population [1–3]. According to these studies, sleep problems show a

prevalence ranging from 55% to 74% in the youth with ADHD [4–6].

The most accepted explanation for the association between ADHD and sleep problems is that the brain areas involved in executive functions and self-regulation processes, already impaired in individuals with ADHD, are especially vulnerable to the effects of sleep deprivation [7,8] and sleep disorders [9]. Considering the interrelations between daytime and nighttime problems in patients with ADHD, Becker [10] proposed viewing ADHD as a 24-h condition and urged researchers to develop

[☆] The data that support the findings are not publicly available due to ethical restrictions.

^{*} Corresponding author. DISTUM, Department of Humanities, University of Urbino Carlo Bo, via Bramante, 17, 61029, Urbino (PU), Italy.

E-mail address: michela.vezzoli@uniurb.it (M. Vezzoli).

¹ Department of Developmental and Social Psychology, La Sapienza University, Rome, Italy.

integrated models of dysfunctional daytime-sleep-related problems in ADHD functioning dynamically intensify each other.

A crucial aspect that requires attention is that ADHD rarely presents in isolation; it often occurs alongside a wide range of comorbid psychiatric and neurodevelopmental disorders [11–14]. Although the association between ADHD and sleep problems is well established, the specific contribution of co-occurring internalizing and externalizing symptoms to this association remains unclear [15,16]. Because internalizing (e.g., anxiety, depression) or externalizing (e.g., oppositional/defiant, conduct) behaviors drive the social, interpersonal, and academic impairments central to sleep-disorder diagnoses (DSM-5), clarifying their role is essential to understand the ADHD–sleep relationship.

Over the past decade, an increasing number of studies have investigated how co-occurring internalizing and externalizing symptoms in youth with ADHD relate to sleep problems [16–19]. These consistently show that adolescents with ADHD who experience sleep problems tend to display higher levels of internalizing (emotional problems) and externalizing (behavioral problems) comorbidities than those without problems [16]. Some findings suggest that, mainly, internalizing symptoms may moderate the link between ADHD and sleep problems, influencing how these difficulties interact and persist over time [16]. In addition, specific dimensions of ADHD (i.e., inattention versus hyperactivity/impulsivity) may contribute differently to sleep problems depending on the presence and type of co-occurring internalizing or externalizing symptoms [18]. Despite growing interest, integrated models that jointly test internalizing–externalizing interactions across distinct sleep domains—insomnia, sleep-related movement disorder (SRMD), and parasomnia—within the same sample are essentially absent. Methodological inconsistencies across studies, such as differences in assessment tools, statistical methods and sample characteristics, limit the comparability and generalizability of findings. Investigating these associations within a single, well-characterized sample improves internal consistency, reduces confounding, and allows for a more accurate analysis of how internalizing and externalizing symptoms relate to different sleep symptoms in ADHD.

Overall, critical questions remain unanswered. In particular, it is unclear how internalizing and externalizing symptoms, both independently and in combination, relate to distinct sleep symptom indicators within ADHD. Clarifying these associations may help prioritize assessment of sleep complaints in youths with differing symptom burdens, especially given evidence that co-occurring internalizing and externalizing difficulties are linked to greater functional impairment [19]. Therefore, our first research question (RQ1) is: Are internalizing and externalizing symptoms associated with symptom indicators for insomnia, SRMD, parasomnia, and is their co-occurrence related to higher levels of these sleep symptoms?

Although most studies have reported associations between both internalizing and externalizing symptoms with sleep problems, longitudinal research has highlighted differential patterns in these associations [20]. Examining the interaction between internalizing and externalizing symptoms in relation to phenotypic features reflecting distinct sleep symptoms offers a crucial contribution to the field. If externalizing behaviors impact sleep primarily through underlying internal distress, interventions should shift from solely focusing on behavior management to also addressing anxiety, rumination, and mood regulation. Thus, our second research question (RQ2) is: Does internalizing symptomatology differently mediate the relationship between externalizing problems and sleep symptom indicators for insomnia, SRMD, and parasomnia?

Parenting is a modifying contextual factor the internalizing and externalizing [21,22]. Supportive practices may buffer, and punitive practices may amplify, the impact of child symptoms on sleep by altering pre-sleep arousal and bedtime routines. Likewise, parental emotional climate could either soothe or escalate children's internal arousal, shaping how daytime problems spill into the night. Mapping these

moderating effects can pinpoint family-level levers for intervention and explain mixed findings in the ADHD-sleep literature regarding parent-child dynamics. Therefore, our third research question (RQ3) is: Do parental emotions (positive and negative) and parenting strategies (supportive and punitive) differently moderate the associations between behavioral symptoms (internalizing and externalizing) and sleep symptom indicators for insomnia, SRMD, parasomnia?

2. Methods

2.1. Participants

Parents of 1,086 children and adolescents with a certified ADHD diagnosis completed the survey about their child ($M_{\text{age}} = 11.47$ years, $SD = 3.17$; range = 5–18). The child sample was predominantly male ($n = 925$, 85.2%), with females representing 14.8% ($n = 161$). Respondents were geographically distributed across all Italian regions, 20 metropolitan cities, and 78.3% (72/92) of provinces. The cohort was clinically heterogeneous: 11 different psychiatric or neurodevelopmental comorbid diagnoses were represented, and 90.8% of participants had at least one comorbidity; specifically, 47.4% had one comorbidity and 43.4% had two or more. Medication was prescribed for 438 patients (40.4%); of these, 70.3% received Methylphenidate, while 26.7% were treated with other agents, including atomoxetine, antipsychotics, and mood stabilizers. Treatment details were not specified by 2.2% of caregivers.

Bedtime was typically early: 20:00–22:00 in 760 children (70.0%), 22:00–23:00 in 233 (21.5%), 23:00–24:00 in 64 (5.9%), and after 24:00 in 29 (2.7%). Reported nightly sleep duration was <6 h in 43 participants (4.0%), 6–7 h in 240 (22.1%), 8–9 h in 644 (59.3%), 10–11 h in 151 (13.9%), and ≥ 12 h in 8 (0.7%).

2.2. Procedure

Data were collected between June and September 2020 via an anonymous online survey, distributed through the official website of the National ADHD Family Association. Including emotional-behavioral functioning, sleep problems, parental emotions, and parenting practices, with separate parent reports referring to the periods before and during the COVID-19 pandemic. In the present study, only ratings referring to the pre-COVID period were analyzed. Methods of data collection and storage, as well as other analyses based on this broader survey dataset, have been described in previous publications [23–26].

Parents of children and adolescents with ADHD aged 5 to 18 years were invited to complete the survey. Written informed consent was obtained from all participants prior to survey completion.

Participants were followed by Child and Adolescent Mental Health Services and had received a certified ADHD diagnosis in line with the official Italian ADHD guidelines and the protocols established by the Italian National Institute of Health. No exclusion criteria were applied. No financial compensation was provided for participation. The study received ethical approval from the Ethics Committee of the Department of Developmental and Social Psychology at Sapienza University and was conducted in accordance with the ethical standards of the 2008 Declaration of Helsinki.

2.3. Measures

2.3.1. Sleep symptom indicators

Sleep symptoms were assessed using a reduced set of 10 items from the Sleep Disturbance Scale for Children (SDSC) [27] selected to index three domains: insomnia, SRMD, and parasomnia symptoms. Insomnia symptoms were measured using three items (i.e., difficulty falling asleep, anxious/agitated behavior at bedtime, and frequent nocturnal awakenings). SRMD symptoms were assessed through four items capturing motor restlessness, and involuntary movements during sleep

(i.e., hypnic jerks at sleep onset; rhythmic movements to initiate sleep; restless sleep; and sleep bruxism). Parasomnia symptoms were measured with three items describing disorders of arousal (i.e., *pavor nocturnus*, sleepwalking, and nightmares). The SDSC items assessing sleep breathing disorders, hypnagogic hallucinations, sleep hyperhidrosis, and excessive somnolence were not administered because these domains were not part of the present study. Each symptom was coded dichotomously (0 = *Absent*, 1 = *Present*) by the parents to capture the child's symptom endorsement rather than frequency-based severity [28]. Given the binary nature of the indicators, inter-item associations were examined using polychoric correlations, and the hypothesised three-factor structure was tested via confirmatory factor analysis using a WLSMV estimator appropriate for binary data [29]. The three-factor model showed excellent fit (CFI = 0.977, TLI = 0.968, RMSEA = 0.017, SRMR = 0.032). Internal consistency was acceptable for insomnia ($\alpha = .70$; $\omega = 0.70$) and SRMD ($\alpha = .73$; $\omega = 0.76$). It was modest for parasomnia symptoms ($\alpha = .60$; $\omega = 0.66$), likely reflecting the small number of dichotomous items and behavioral heterogeneity. Accordingly, associations involving parasomnia symptoms may be attenuated by measurement error and should be interpreted conservatively. For each domain, the outcome was specified as the number of endorsed items (k) out of the total number of items in the domain (n).

2.3.2. Internalizing and externalizing symptoms

Internalizing and externalizing symptoms were assessed using a selected subset of items from the Child Behavior Checklist (CBCL) [30, 31]. Items were chosen to capture core anxiety/depressive and oppositional/aggressive behaviors that are particularly relevant in ADHD populations, while minimizing redundancy and overlap across symptom dimensions. Internalizing symptoms were measured using four items (e.g., worry-fear, sadness, lack of interest, and boredom). Externalizing symptoms were measured using seven items (e.g., temper tantrums, anger, arguments, verbal and physical aggression). Parents answered using a three-point scale indicating weekly frequency (1–2 times; 3–4 times; 5–7 times per week). Internal consistency was acceptable for internalizing behaviors ($\alpha = .65$, $\omega = 0.67$) and good for externalizing behaviors ($\alpha = .87$, $\omega = 0.89$). CFA supported a two-factor structure with excellent model fit (CFI = 0.992, TLI = 0.990, RMSEA = 0.035, SRMR = 0.043). Total scores for each subscale were calculated by averaging the items.

2.3.3. Parenting strategies

Parenting practices were assessed using a selected subset of items from the Alabama Parenting Questionnaire (APQ) [32], chosen to capture the positive/supportive and negative/punitive dimensions most relevant to the study aims. Positive parenting was assessed with six items reflecting warmth, support, and preventive regulatory practices (e.g., “I listen to his/her requests and try to reassure him/her”; “I stay calm and try to find a compromise”). Negative parenting was assessed with five items reflecting harsh, dysregulated, or disengaged practices (e.g., “I scream,” “I lose control,” “I punish him/her excessively”). Parents answered using a binary format (0 = *No*, 1 = *Yes*). Both subscales demonstrated good internal consistency ($\alpha = .78$, $\omega = 0.82$ for positive parenting; $\alpha = .78$, $\omega = 0.85$ for negative parenting). CFA confirmed the hypothesised two-factor model with adequate fit indices (CFI = 0.930, TLI = 0.910, RMSEA = 0.050, SRMR = 0.047). Total scores for each subscale were calculated by averaging the item.

2.3.4. Parents' emotions

Parental emotional responses to their child's behavior were assessed through a checklist of positive and negative emotions. The checklist was conceptually informed by widely used measures of parental stress and emotion, including the Parenting Stress Index–Short Form (PSI-SF; [33]) and the Parental Stress Scale (PSS; [34]), but was adapted to capture core emotional states rather than full situational statements. Positive emotions included three items (e.g. optimistic and hopeful feelings,

empathic, loving) while negative emotions were assessed using ten items related to distressing state (e.g., “I feel: frustrated, angry, worried, powerless, guilty”). Parents used a binary response format for each emotion. Internal consistency was adequate for positive emotions ($\alpha = .64$, $\omega = 0.70$) and excellent for negative emotions ($\alpha = .88$, $\omega = 0.90$). CFA supported a two-factor structure with good fit (CFI = 0.949, TLI = 0.938, RMSEA = 0.047, SRMR = 0.052), and scores for each domain were computed as the mean of the items.

2.4. Statistical analyses

The survey and the R script are available on OSF (<https://osf.io/ry7wz>). Statistical analyses were performed in R (v4.3.2; [35]). Descriptive statistics were computed for all key variables. Normality was evaluated by $|\text{skew}| < 1$ or $|\text{kurtosis}| < 3$ [36]. Pearson's r (continuous), Spearman's ρ (ordinal), or point-biserial (binary) correlations were computed according to variables type.

Primary analyses for RQ1 treated internalizing and externalizing symptoms as continuous predictors. We modelled each outcome as a binomial response using generalized linear models with a logit link. For each outcome, we fitted a full model including internalizing symptoms, externalizing symptoms, and their interaction (internalizing $\times$ externalizing), adjusting for age, sex, bedtime, and sleep duration. Although conceptually related to insomnia, bedtime and sleep duration were included as covariates to account for general sleep schedule variability. The interaction term was retained for completeness but was interpreted only if it reached statistical significance; otherwise, inference focused on the main effects. Effects are reported as odds ratios (ORs) with 95% confidence intervals. For descriptive purposes, we also derived four symptom configurations using median splits on internalizing and externalizing scores (low symptoms, internalizing-only, externalizing-only, and mixed) to illustrate patterns of co-occurrence. Group differences in each sleep domain were examined with binomial models identical in structure to those above, replacing the continuous symptom predictors with the four-level configuration factor and retaining the same covariates. Pairwise comparisons were Bonferroni-adjusted and are reported as odds ratios with 95% confidence intervals.

For RQ2, we examined whether internalizing symptoms statistically mediated the association between externalizing symptoms and each sleep outcome using bootstrap-based mediation within the counterfactual framework implemented in the R package *mediation* [37]. The mediator model regressed internalizing symptoms on externalizing symptoms while adjusting for age and sex. The outcome models adopted the same binomial specification described above for each sleep domain and included both externalizing and internalizing symptoms alongside the covariates. Indirect (ACME), direct (ADE), and total effects were estimated via 5,000 nonparametric bootstrap resamples with percentile 95% confidence intervals; indirect effects were considered supported when the confidence interval excluded zero. Given the cross-sectional design, these mediation estimates were interpreted as indirect associations consistent with the hypothesised model rather than evidence of temporal ordering or causal mechanisms.

For the moderation analyses (RQ3), sleep outcomes were treated as symptom-endorsement counts within each domain. Accordingly, associations were estimated using generalized linear models with a binomial response and a logit link. Each model included centred internalizing and externalizing symptom scores, age, sex, bedtime, and sleep duration. Moderation was tested by adding one parental factor at a time (positive/negative parenting; positive/negative parental emotion) together with the corresponding two product terms (internalizing $\times$ moderator; externalizing $\times$ moderator), to minimize collinearity and preserve interpretability. Effects are reported as ORs with 95% confidence intervals. When a significant interaction was detected, it was probed via simple-slope analyses by estimating the conditional association of the focal symptom predictor at low (-1 SD), mean, and high ($+1$ SD) levels of the moderator using marginal trend estimation. Conditional effects

were expressed on the log-odds scale and exponentiated to ORs. Given the number of moderation tests, we controlled multiplicity using the Benjamini–Hochberg false discovery rate (FDR) with $FDR-p < .05$ as the threshold for statistical significance.

3. Results

Descriptive statistics are reported in Table S1 and correlations in Table S2 of the Supplementary Materials. Domain-specific distributional characteristics indicated substantial floor effects, with zero endorsements observed in 62.1% of insomnia, 51.7% of SRMD, and 80.6% of parasomnia symptom indices. Insomnia symptoms correlated with SRMD, $r = 0.32$, $p < .001$, and with parasomnia, $r = 0.35$, $p < .001$; SRMDs and parasomnia were likewise moderately associated, $r = 0.35$, $p < .001$. Internalizing and externalizing symptoms were strongly associated ($r = 0.50$, $p < .001$).

3.1. Associations of internalizing and externalizing symptoms with sleep symptoms

The binomial regression models showed that, the internalizing $\times$ externalizing interaction did not improve model fit for insomnia (Δ Deviance = 1.35, $p = .245$), SRMD (Δ Deviance = 1.31, $p = .252$), or parasomnia symptoms (Δ Deviance = 2.75, $p = .097$). Internalizing symptoms were positively associated with all outcomes (insomnia: OR = 1.46, 95% CI [1.29, 1.65], $p < .001$; SRMD symptoms: OR = 1.31, 95% CI [1.18, 1.45], $p < .001$; parasomnia symptoms: OR = 1.44, 95% CI [1.24, 1.67], $p < .001$). Externalizing symptoms were unrelated to insomnia (OR = 1.10, 95% CI [0.97, 1.25], $p = .130$) but were associated with SRMD symptoms (OR = 1.18, 95% CI [1.06, 1.30], $p = .002$) and parasomnia symptoms (OR = 1.26, 95% CI [1.08, 1.47], $p = .004$). Full model estimates are reported in Table 1.

To complement these continuous models and aid clinical interpretability, we compared sleep symptom endorsement across four descriptive symptom configurations defined via median splits on internalizing (Mdn = 0.50) and externalizing (Mdn = 0.86) scores: *low-symptoms* ($n = 286$), *only-externalizing* ($n = 142$), *only-internalizing* ($n = 196$), and *mixed* ($n = 462$). Because the median-split configurations were included to aid clinical interpretability, we treat them as descriptive summaries of common co-occurrence patterns. Overall, the pattern of group differences remained coherent across models (Table S3).

For insomnia symptoms, the mixed configuration showed higher odds of endorsement than low symptoms (OR = 2.11, $p < .001$) and externalizing-only (OR = 2.27, $p < .001$). Internalizing-only also exceeded low symptoms (OR = 1.53, $p = .034$). No other contrasts remained significant after correction, including mixed versus internalizing-only (OR = 1.38, $p = .078$) and low symptoms versus externalizing-only (OR = 1.08, $p = 1.00$).

For SRMD symptoms, the mixed configuration again showed higher odds than low symptoms (OR = 2.47, $p < .001$) and externalizing-only (OR = 1.67, $p < .001$). Internalizing-only also exceeded low symptoms (OR = 1.93, $p < .001$). Remaining comparisons were not significant after correction, including mixed versus internalizing-only (OR = 1.28, $p = .131$) and low symptoms versus externalizing-only (OR = 1.48, $p = .058$).

For parasomnia symptoms, the mixed configuration showed markedly higher odds than low symptoms (OR = 3.12, $p < .001$) and exceeded externalizing-only (OR = 1.87, $p = .035$). Internalizing-only exceeded low symptoms (OR = 2.45, $p = .001$). Externalizing-only also showed higher odds than low symptoms (OR = 1.67, $p = .004$). No other contrasts were significant after correction, including mixed versus internalizing-only (OR = 1.27, $p = .999$) and externalizing-only versus internalizing-only (OR = 0.68, $p = .832$).

3.2. Mediation analyses

For the mediation models (RQ2), the indirect effect through internalizing symptoms was statistically reliable.

For insomnia symptoms, the average indirect effect (ACME) was 0.05 (95% CI 0.04–0.07, $p < .001$), whereas the average direct effect (ADE) was not significant (0.03, 95% CI -0.005 –0.06, $p = .089$). The total effect was 0.081 (95% CI 0.052–0.11, $p < .001$), and the estimated proportion mediated was approximately 0.64 (95% CI 0.39–1.08, $p < .001$), consistent with a pattern in which the association between externalizing symptoms and insomnia symptom endorsement was primarily indirect via internalizing symptoms.

For SRMD symptoms, both the indirect effect (ACME average = 0.04, 95% CI 0.02–0.05, $p < .001$) and the direct effect (ADE average = 0.05, 95% CI 0.02–0.07, $p = .003$) were significant. The total effect was 0.09 (95% CI 0.06–0.11, $p < .001$), and the proportion mediated was approximately 0.44 (95% CI 0.26–0.73, $p < .001$), indicating a partial indirect association through internalizing symptoms alongside a residual direct association of externalizing symptoms with SRMD endorsement. For parasomnia symptoms, both the indirect effect (ACME average = 0.02, 95% CI 0.01–0.04, $p < .001$) and the direct effect (ADE average = 0.03, 95% CI 0.004–0.04, $p = .027$) were significant. The total effect was 0.05 (95% CI 0.0302–0.0681, $p < .001$), with an estimated proportion mediated of approximately 0.47 (95% CI 0.25–0.87, $p < .001$), again supporting a partial indirect association whereby internalizing symptoms accounted for a substantive portion of the externalizing–parasomnia link.

3.3. Moderation by parental emotion and strategies

Full model outputs are provided in the Supplementary Materials (Tables S4, S5, and S6).

Table 1

Binomial regression models predicting sleep symptom endorsement from internalizing and externalizing symptoms.

Term	Insomnia Symptoms			SRMD Symptoms			Parasomnia Symptoms		
	OR	OR 95%CI	p	OR	OR 95%CI	p	OR	OR 95%CI	p
Internalizing Symptoms	1.46	1.29 - 1.65	<0.001	1.31	1.18 - 1.45	<0.001	1.44	1.24 - 1.66	<0.001
Externalizing Symptoms	1.10	0.97 - 1.25	0.126	1.18	1.06 - 1.30	0.002	1.26	1.08 - 1.48	0.003
Age	0.93	0.90 - 0.97	0.001	0.92	0.89 - 0.96	<0.001	0.93	0.87 - 0.98	0.010
Sex [Male]	0.93	0.70 - 1.25	0.642	0.97	0.75 - 1.26	0.812	0.72	0.50 - 1.03	0.075
Bedtime [22:00 - 23:00]	1.37	1.02 - 1.84	0.036	1.19	0.93 - 1.51	0.158	0.74	0.48 - 1.14	0.172
Bedtime [23:00 - 24:00]	1.59	1.00 - 2.50	0.048	1.06	0.66 - 1.72	0.810	0.99	0.48 - 2.04	0.989
Bedtime [After 24:00]	2.04	1.20 - 3.49	0.009	1.49	0.85 - 2.61	0.164	0.49	0.14 - 1.75	0.273
Sleep Time [6-7 h]	0.54	0.36 - 0.81	0.003	0.63	0.39 - 1.02	0.062	0.50	0.25 - 0.98	0.043
Sleep Time [8-9 h]	0.29	0.19 - 0.44	<0.001	0.59	0.37 - 0.94	0.026	0.53	0.28 - 1.02	0.058
Sleep Time [10-11 h]	0.30	0.18 - 0.49	<0.001	0.65	0.39 - 1.10	0.112	0.56	0.28 - 1.13	0.106
Sleep Time [> than 12 h]	0.31	0.11 - 0.88	0.028	0.84	0.33 - 2.11	0.711	0.22	0.02 - 2.23	0.200
Internalizing Symptoms x Externalizing Symptoms	0.95	0.87 - 1.04	0.290	0.96	0.89 - 1.04	0.305	0.91	0.81 - 1.03	0.123

Notes. OR = Odds Ratio.

For insomnia symptoms, no moderation effects were supported. None of the interaction terms reached significance after FDR correction (Table 2; all FDR-*p* > .521). In these same models, internalizing symptoms showed a consistent positive main effect (OR range = 1.65–1.78; all FDR-*p* < .001), whereas externalizing symptoms did not show a reliable main effect (OR range = 1.04–1.13; all FDR-*p* ≥ .256). Among moderators, negative parental emotion (OR = 1.92, 95% CI 1.23–2.98, FDR-*p* = .015) and positive parenting (OR = 1.75, 95% CI 1.23–2.51, FDR-*p* = .010) showed positive main effects, while the remaining moderator main effects were not significant after FDR correction.

In the SRMD symptoms models (Table 3), moderation emerged selectively for parenting strategies, whereas parental emotions did not show reliable moderating effects after FDR correction. Positive parenting buffered the association between externalizing symptoms and SRMD endorsement (OR = 0.57, FDR-*p* = .022). Simple-slope probing indicated that externalizing symptoms predicted higher SRMD endorsement when positive parenting was low (slope = 0.364, 95% CI 0.192–0.535; OR = 1.44, 95% CI 1.21–1.71) and at the mean level (0.202, 95% CI 0.084–0.320; OR = 1.22, 95% CI 1.09–1.38), but not when positive parenting was high (0.040, 95% CI –0.118–0.198; OR = 1.04, 95% CI 0.89–1.22). Conversely, negative parenting amplified the association between internalizing symptoms and SRMD endorsement (OR = 1.99, FDR-*p* = .036). Internalizing symptoms were not reliably related to SRMDs under low negative parenting (0.197, 95% CI –0.008–0.403; OR = 1.22, 95% CI 0.99–1.50), but were positively related at mean (0.366, 95% CI 0.225–0.507; OR = 1.44, 95% CI 1.25–1.66) and high levels (0.534, 95% CI 0.356–0.713; OR = 1.71, 95% CI 1.43–2.04). Across SRMD models, both internalizing and externalizing symptoms showed positive main effects (all FDR-*p* ≤ .044). Positive emotions (OR = 1.72, FDR-*p* < .001) and parenting (OR = 1.73, FDR-*p* = .002) showed significant positive associations with SRMD symptoms.

In the parasomnia symptoms models (Table 4), moderation was concentrated in the positive emotion and positive parenting models. Positive parental emotion showed a dual moderating pattern: it buffered the externalizing–parasomnia association (OR = 0.24, FDR-*p* < .001) and strengthened the internalizing–parasomnia association (OR = 2.58, 95% FDR-*p* = .038). Simple slopes indicated that externalizing symptoms predicted parasomnia endorsement when positive emotion was

Table 2
Moderated binomial regressions predicting insomnia symptoms from internalizing/externalizing symptoms with parental emotions/strategies as moderators.

Predictors	Insomnia Symptoms		
	OR	OR 95% CI	FDR- <i>p</i>
Negative Emotions as Moderator			
Internalizing Issues	1.77	1.51 - 2.09	<0.001
Externalizing Issues	1.04	0.89 - 1.21	0.811
Negative Emotion	1.92	1.23 - 2.98	0.015
Internalizing x Negative emotion	0.79	0.44 - 1.43	0.647
Externalizing x Negative emotion	0.87	0.49 - 1.53	0.810
Positive Emotions as Moderator			
Internalizing Issues	1.78	1.51 - 2.1	<0.001
Externalizing Issues	1.10	0.95 - 1.27	0.363
Positive emotion	0.94	0.67 - 1.31	0.842
Internalizing x Positive emotion	1.25	0.7 - 2.23	0.677
Externalizing x Positive emotion	0.77	0.47 - 1.28	0.521
Negative Strategies as Moderator			
Internalizing Issues	1.76	1.5 - 2.07	<0.001
Externalizing Issues	1.13	0.97 - 1.3	0.256
Negative strategies	0.99	0.64 - 1.52	0.971
Internalizing x Negative strategies	0.81	0.43 - 1.53	0.751
Externalizing x Negative strategies	0.91	0.51 - 1.62	0.868
Positive Strategies as Moderator			
Internalizing Issues	1.65	1.4 - 1.95	<0.001
Externalizing Issues	1.11	0.96 - 1.28	0.311
Positive strategies	1.75	1.23 - 2.51	0.010
Internalizing x Positive strategies	1.28	0.76 - 2.16	0.549
Externalizing x Positive strategies	0.81	0.51 - 1.3	0.586

Table 3
Moderated binomial regressions predicting SRMD symptoms from internalizing/externalizing symptoms with parental emotions/strategies as moderators.

Predictors	SRMD Symptoms		
	OR	OR 95% CI	FDR- <i>p</i>
Negative Emotions as Moderator			
Internalizing Issues	1.45	1.26 - 1.67	<0.001
Externalizing Issues	1.18	1.03 - 1.34	0.044
Negative Emotion	1.49	1.02 - 2.16	0.110
Internalizing x Negative emotion	1.33	0.8 - 2.21	0.465
Externalizing x Negative emotion	0.78	0.48 - 1.26	0.511
Positive Emotions as Moderator			
Internalizing Issues	1.43	1.25 - 1.65	<0.001
Externalizing Issues	1.26	1.12 - 1.42	0.001
Positive emotion	1.72	1.31 - 2.25	<0.001
Internalizing x Positive emotion	0.67	0.42 - 1.08	0.232
Externalizing x Positive emotion	1.21	0.81 - 1.81	0.553
Negative Strategies as Moderator			
Internalizing Issues	1.44	1.25 - 1.66	<0.001
Externalizing Issues	1.22	1.08 - 1.38	0.007
Negative strategies	1.19	0.83 - 1.71	0.541
Internalizing x Negative strategies	1.99	1.17 - 3.4	0.036
Externalizing x Negative strategies	0.64	0.39 - 1.04	0.172
Positive Strategies as Moderator			
Internalizing Issues	1.46	1.27 - 1.68	<0.001
Externalizing Issues	1.22	1.09 - 1.38	0.004
Positive strategies	1.73	1.28 - 2.33	0.002
Internalizing x Positive strategies	0.69	0.44 - 1.09	0.254
Externalizing x Positive strategies	0.57	0.38 - 0.85	0.022

Table 4
Moderated binomial regressions predicting parasomnia symptoms from internalizing/externalizing symptoms with parental emotions/strategies as moderators.

Predictors	Parasomnia Symptoms		
	OR	OR 95% CI	FDR- <i>p</i>
Negative Emotions as Moderator			
Internalizing Issues	1.65	1.32 - 2.06	<0.001
Externalizing Issues	1.23	0.99 - 1.52	0.151
Negative Emotion	1.30	0.67 - 2.47	0.647
Internalizing x Negative emotion	0.90	0.41 - 1.99	0.880
Externalizing x Negative emotion	1.18	0.54 - 2.55	0.833
Positive Emotions as Moderator			
Internalizing Issues	1.63	1.3 - 2.03	<0.001
Externalizing Issues	1.30	1.06 - 1.58	0.034
Positive emotion	1.58	0.97 - 2.54	0.156
Internalizing x Positive emotion	2.58	1.23 - 5.46	0.038
Externalizing x Positive emotion	0.24	0.12 - 0.47	<0.001
Negative Strategies as Moderator			
Internalizing Issues	1.63	1.3 - 2.04	<0.001
Externalizing Issues	1.30	1.06 - 1.59	0.036
Negative strategies	0.87	0.45 - 1.65	0.833
Internalizing x Negative strategies	1.16	0.51 - 2.66	0.853
Externalizing x Negative strategies	1.29	0.58 - 2.81	0.753
Positive Strategies as Moderator			
Internalizing Issues	1.52	1.2 - 1.91	0.002
Externalizing Issues	1.35	1.11 - 1.64	0.013
Positive strategies	2.41	1.42 - 4.11	0.006
Internalizing x Positive strategies	1.16	0.56 - 2.37	0.833
Externalizing x Positive strategies	0.44	0.23 - 0.84	0.038

low (slope = 0.682, 95% CI 0.420–0.945; OR = 1.98) and at the mean (0.260, 95% CI 0.061–0.458; OR = 1.30), but not when positive emotion was high (–0.162, 95% CI –0.460–0.136; OR = 0.85). Conversely, internalizing symptoms were unrelated to parasomnias at low positive emotion (0.206, 95% CI –0.095–0.507; OR = 1.23), but were positively associated at the mean (0.486, 95% CI 0.265–0.708; OR = 1.63) and high levels (0.766, 95% CI 0.443–1.090; OR = 2.15). Positive parenting showed a positive main effect on parasomnia symptoms (OR = 2.41, FDR-*p* = .006) and, more importantly, attenuated the externalizing–parasomnia symptoms link (OR = 0.44, FDR-*p* = .038).

Externalizing symptoms were associated with parasomnias at low (slope = 0.533, 95% CI 0.238–0.828; OR = 1.70) and mean positive parenting (0.297, 95% CI 0.101–0.493; OR = 1.35), but not at high levels (0.061, 95% CI –0.180–0.302; OR = 1.06). Models with negative parental emotion or negative parenting showed no significant interactions after FDR correction.

4. Discussion

This study examined how internalizing and externalizing symptoms relate to three sleep symptoms domains (i.e., insomnia, SRMDs and parasomnia symptoms) and how parental characteristics moderated their association, in a large Italian cohort of youth with ADHD. Across complementary analytic approaches, the findings converged on internalizing distress as the most consistent correlate of sleep symptoms endorsement, while parenting practices and emotions modified selected links involving externalizing and internalizing symptoms. Overall, these results support an integrated “24-h” perspective on ADHD, in which daytime emotional-behavioral difficulties and nocturnal symptoms co-occur in systematic ways, and they motivate the evaluation of interventions that address both child affective distress and family routines.

Across sleep domains, internalizing symptoms emerged as the most consistent correlate of sleep symptom endorsement, whereas externalizing symptoms showed a narrower association, emerging mainly for SRMD and parasomnia symptoms. The absence of a significant interaction suggests that internalizing distress relates to sleep symptoms in a broadly similar manner across levels of behavioral dysregulation, rather than being specific to particular combinations of symptom severity. Consistent with this pattern, profiles characterized by internalizing difficulties—either alone or in combination with externalizing symptoms—tended to show greater sleep symptom endorsement across domains, whereas externalizing-only presentations were more selectively linked to SRMD and parasomnia symptoms. This is broadly consistent with Lycett et al. [17], who similarly found that mixed and internalizing-dominant presentations showed higher levels of sleep symptoms, whereas externalizing-only presentations were closer to low-symptom profiles. Overall, these findings suggest that emotional distress may play a more central role in sleep symptoms in ADHD than disruptive behavior alone [38–42].

Mediation analyses refined this pattern by indicating that internalizing symptoms statistically accounted for a substantial share of the association between externalizing symptoms and sleep symptom endorsement across all three domains. Longitudinal work supports indirect affective pathways linking behavioral dysregulation with sleep problems. Mesman et al. [43] found that early externalizing symptoms preceded later internalizing difficulties, suggesting a potential developmental pathway. Kouros and El-Sheikh [44] further highlighted that affective dysregulation may mediate the relationship between sleep problems and externalizing-internalizing behaviors, underscoring the role of internal emotional functioning in behavioral outcomes. Similarly, cross-sectional studies found that anxiety partially explains externalizing-sleep associations in clinic-referred youth including also ADHD [45]. Moreover, Mulraney et al. [46] found in a cohort of 270 children with ADHD aged 5–13 years found bidirectional links between internal emotional problems and sleep: baseline internalizing symptoms predicted sleep problems six months later, and baseline sleep problems predicted later internalizing symptoms. No bidirectional relationship was observed between sleep problems and externalizing symptoms. Overall, prior evidence converges on internal emotional distress as a key correlate of nocturnal dysfunction and is consistent with the indirect associations observed here, with domain-specific nuances across insomnia, SRMD, and parasomnia symptoms.

For insomnia symptoms, the indirect effect through internalizing symptoms was statistically reliable, whereas the average direct effect of externalizing symptoms was not significant. This pattern indicates that the externalizing-insomnia association was primarily explained by the

co-occurrence of internalizing distress. This is consistent with prior work showing robust links between internalizing symptoms and insomnia severity in ADHD [42,47–49]. Complementarily, cross-sectional analyses within a longitudinal cohort reported developmental shifts: in preschool, insomnia related to hostile-aggressive and hyperactive-distractible behaviors; by age 9, persistent insomnia co-occurred with depressive symptoms alongside externalizing/ADHD symptoms; and by age 18, insomnia aligned most with anxiety and ADHD [50]. Although that study did not test mediation, the recurrent coupling of internalizing symptoms with insomnia across development is broadly consistent with the present findings.

Further, studies in youth and adult samples with insomnia symptoms [51–53] are consistent with a full-mediation account in which internalizing symptoms carry the association with insomnia. Specifically, internalizing symptoms, particularly depression, are closely related to insomnia at both phenotypic and genetic levels [54,55], with phenotypic overlap remaining stable over time [56]. Internalizing symptoms and insomnia also share overlapping neurobiological mechanisms and circuits [57,58], a convergence proposed as a transdiagnostic neural marker linking the two conditions. Finally, “restless REM sleep” together with maladaptive nocturnal rumination may index deficient overnight adaptation to daytime stress in insomnia [59]. A plausible, although speculative, hypothesis linking internalizing symptoms to insomnia involves heightened cortisol levels and atypical cortical maturation. Elevated cortisol in children and adolescents has been shown to hinder sleep onset [60,61] and may partly explain its association with internalizing problems [62–64]. Furthermore, alterations in sleep EEG microstructure—such as age-related abnormalities in slow-wave activity and cyclic alternating pattern indices, which reflect atypical cortical maturation—may impair emotion regulation, increase vulnerability to internalizing symptoms, and contribute to sleep disturbances [65]. Although speculative, this perspective may help clarify the prominent role of internalizing symptoms, together with reduced sleep duration, in insomnia. It also offers a potential explanation for the absence of moderating effects of parental emotional responsiveness or parenting style, pointing toward a predominantly biological rather than environmental pathway.

For SRMD symptoms, both indirect and direct associations were statistically reliable: internalizing symptoms accounted for part of the externalizing-SRMD association, but a residual direct association of externalizing symptoms remained. This pattern is consistent with the idea that motor hyper-arousal may be heightened when behavioral dysregulation co-occurs with emotional distress [66]. This pattern aligns with prior evidence linking ADHD to specific SRMD symptoms [67–70] and relating SRMD symptoms to both externalizing (e.g., ODD) and internalizing difficulties, although often outside ADHD-specific samples [71,72]. Consistent with our results, SRMD symptoms have been associated with elevated ADHD hyperactivity-impulsivity and externalizing symptoms (predominantly ODD) [73,74], as well as heightened anxiety and depressive symptoms and mixed internalizing-externalizing symptoms, suggesting feedback mechanisms between sleep-related motor activity and affect regulation [73,75]. A plausible shared mechanism involves brain iron deficiency [76,77] and dopaminergic dysfunction [70,78–80], whereby heightened affective arousal further perturbs dopaminergic signaling. Converging evidence indicates that the amygdala modulates stimulus-reward effects on behavior through dopamine-dependent mechanisms in the striatum [81,82], a circuit implicated in the neuro-physiopathology of SRMD symptoms. This account is compatible with the partial indirect association observed in this sample, in which internalizing distress transmits part of the externalizing-SRMD symptoms link.

Finally, co-occurring internalizing and externalizing symptoms both showed unique associations with parasomnia symptoms (i.e., “disorders of arousal” (DOAs) and nightmares), with internalizing symptoms showing the stronger association. This pattern aligns with evidence that anxiety-related hyperarousal and depressive affect are primary drivers

of parasomnias, whereas behavioral dysregulation adds a smaller, secondary load [83]. Prior studies likewise indicate that both symptom domains can trigger DOA events by lowering arousal thresholds [84–86]. Proposed processes include persistent hyperarousal and stress undermining emotion regulation, disruption of executive–limbic circuitry with incomplete neocortical–limbic dissociation, covariation between emotional/behavioral symptom severity and episode intensity, and alterations in self-referential and stress-coping processes [87–89]. Taken together with the correlations among insomnia, SRMD, and parasomnia symptoms, the present pattern supports internalizing distress as an important correlate of nocturnal dysfunction across domains, while leaving room for symptom-specific mechanisms and bidirectional influences that should be evaluated in prospective designs.

4.1. Moderator parental factors effect on SRMD and parasomnia symptoms

Across outcomes, moderation effects were selective and domain-specific. For insomnia symptoms, no parental factor moderated the associations between internalizing/externalizing symptoms and symptom endorsement, as none of the interaction terms survived FDR correction. Nevertheless, two parent-level variables showed small but reliable main associations: higher negative parental emotion and higher positive parenting were each associated with greater insomnia symptoms. Importantly, in these models internalizing symptoms remained the only consistent behavioral correlate of insomnia, whereas externalizing symptoms did not show a reliable association. This suggests that parental characteristics may relate to insomnia symptom reporting at the level of overall endorsement, but they do not appear to condition how child internalizing or externalizing difficulties translate into insomnia symptoms.

For SRMD symptoms, positive parenting attenuated the association with externalizing symptoms, whereas negative parenting strengthened the association with internalizing symptoms. This pattern suggests that parenting strategies may shape SRMD symptoms differently depending on whether sleep difficulties are more closely linked to behavioral dysregulation or to emotional distress, consistent with prior work showing that parenting quality can either exacerbate or mitigate children's internalizing/externalizing difficulties and associated sleep problems in ADHD [21,90,91]. A possible, albeit indirect, interpretive framework is that parenting may influence these processes through self-regulation and stress responsivity [92–96]. At the same time, the positive direct associations of positive parental emotion and positive parenting with SRMD symptoms indicate that positively valenced parental processes are not necessarily uniformly protective. Rather than indicating maladaptive parenting, these effects may reflect greater parental involvement, monitoring, and attempts to manage more salient or persistent nocturnal difficulties.

For parasomnia symptoms, positive parental emotion attenuated the association with externalizing symptoms but strengthened the association with internalizing symptoms, suggesting that positively valenced parental affect may operate differently depending on the child's symptom profile. When parasomnia symptoms are more closely linked to behavioral dysregulation, warmth and empathic engagement may reduce bedtime conflict and behavioral arousal [21]. By contrast, when parasomnia symptoms are more closely linked to internal distress, heightened parental emotional involvement may not always be protective and may instead coincide with over-arousal, overinvolvement, or difficulty downregulating the child's distress [97]. This interpretation is broadly consistent with models of emotion contagion and dyadic coregulation [98–100], and with accounts linking unmodulated parental involvement to children's heightened arousal and sleep–wake instability [101–106]. A complementary possibility is that highly engaged “positive” involvement may, in some cases, shift toward overprotection or attempts to rapidly resolve the child's distress, thereby limiting opportunities for autonomous emotion regulation [101,107–109].

Positive parenting strategies showed a similarly differentiated pattern. They attenuated the association between externalizing symptoms and parasomnia symptoms, suggesting that supportive behavioral strategies may reduce bedtime conflict and the behavioral arousal component feeding into nocturnal episodes. At the same time, positive parenting also showed a positive direct association with parasomnia symptoms. These two effects are not necessarily contradictory. Rather than indicating that positive parenting is maladaptive, this pattern may suggest that higher levels of supportive parenting characterize families already coping with greater nocturnal difficulties, reflecting increased parental involvement and supportive management in response to the child's sleep problems. Overall, these findings are consistent with prior work showing that apparently positive parental processes may not always operate in a uniformly protective way across symptom profiles and sleep domains [90,110].

4.2. Clinical implications

The findings suggest that treating sleep symptoms (mainly insomnia and parasomnia) in children with ADHD should prioritize reducing internalizing distress through cognitive-behavioral, mindfulness, or pharmacological approaches, while also addressing externalizing symptoms. Additionally, parent training should emphasize not merely “positive emotion” but regulated warmth: empathy paired with parents' own emotion regulation. Coaching caregivers to manage their own arousal and validate the child's emotions can enhance support effectiveness. Finally, tailoring interventions according to whether sleep problems are chiefly internalizing-versus externalizing-driven may optimize outcomes for both daytime functioning and nocturnal symptoms.

4.3. Limitations

Some constraints merit consideration. Although our mediation model was informed by longitudinal evidence and theory, the cross-sectional design prevents inferences about temporal ordering or causality. Mediation can still be used to explore plausible pathways, as in recent studies [111–114]. Prospective, multi-wave designs (ideally with repeated measures of symptoms and sleep) are needed to test directionality and adjudicate causal pathways.

A second limitation concerns measurement. Because all data were based on parent report, the findings may be affected by shared method variance and by the absence of complementary perspectives on child functioning and sleep. Future research should include multi-informant approaches (e.g., child- and parent-reports) and objective sleep measures (e.g., actigraphy, polysomnography) to validate subjective reports. Ecological momentary assessment could further capture real-time variations in parenting behaviors and child emotional states.

Additional caution is warranted with respect to sample heterogeneity. Pharmacological treatment was not included as a covariate. Although a proportion of participants were receiving medication, treatment status reflected heterogeneous clinical conditions, including different medications and polypharmacy. Because this variability could not be adequately represented by a simplified indicator, medication was not included in the present models. Likewise, psychiatric comorbidity was not entered as an additional covariate. The cohort was clinically heterogeneous and many participants showed at least one comorbidity. Because the main predictors were dimensional, adding multiple categorical comorbidity indicators would have reduced model interpretability and increased overlap with the constructs of primary interest. Finally, although age was included as a covariate, the wide developmental range of the sample (5–18 years) may have obscured age-specific patterns. Because sleep phenotypes and parasomnia symptoms change across development, future studies should examine whether these associations differ between childhood and adolescence.

Despite the relatively large sample size within the Italian context, the

possibility of selection bias cannot be excluded. Recruitment took place exclusively through the official website of the National ADHD Family Association and may therefore have preferentially reached families who were more informed, engaged, or motivated to participate. Consequently, the sample may not fully represent families without internet access, those unaware of the association, or those less involved in its activities.

Finally, although the present analyses were based on ratings referring to the pre-COVID period, these reports were collected during the COVID-19 period and therefore some degree of retrospective recall bias cannot be excluded. At the same time, the use of separate ratings for the periods before and during the pandemic allowed us to approximate pre-pandemic functioning more closely than would have been possible with a single undifferentiated retrospective report.

5. Conclusion

The present findings suggest that associations between ADHD and sleep symptoms are multifaceted, varying according to co-occurring internalizing and externalizing symptoms, the specific sleep domain considered, and selected parent-level factors. To our knowledge, this is the first study to model these interactions concurrently across insomnia, SRMD, and parasomnia symptoms while testing the moderating role of parental emotions and parenting practices. Collectively, the results support the value for integrative, transdiagnostic frameworks that jointly consider daytime psychopathology and nocturnal dysfunction in ADHD. Such frameworks may help to clarify shared versus domain-specific patterns linking internalizing symptoms, externalizing symptoms, and sleep problems, and may inform future longitudinal and intervention research.

CRedit authorship contribution statement

Maria Grazia Melegari: Writing – review & editing, Writing – original draft, Supervision, Project administration, Methodology, Investigation, Data curation, Conceptualization. **Michele Scandola:** Writing – review & editing, Validation. **Martina Giallonardo:** Writing – review & editing, Methodology, Data curation. **Michela Vezzoli:** Writing – review & editing, Writing – original draft, Visualization, Validation, Software, Investigation, Formal analysis.

Declaration of conflict interest

The authors declare that they have no known competing financial interests or personal relationships that could have appeared to influence the work reported in this article.

Declaration of generative AI

During the preparation of this work, the authors used ChatGPT as a language-support tool to perform linguistic checks and improve clarity and readability of the text. After using this tool, the authors reviewed and edited the content as needed and take full responsibility for the content of the published article.

Funding

This research did not receive any specific grant from funding agencies in the public, commercial, or not-for-profit sectors.

Appendix A. Supplementary data

Supplementary data to this article can be found online at <https://doi.org/10.1016/j.sleep.2026.108947>.

References

- [1] Yoon SY, Jain U, Shapiro C. Sleep in attention-deficit/hyperactivity disorder in children and adults: past, present, and future. *Sleep Med Rev* 2012;16(4):371–88. <https://doi.org/10.1016/j.smrv.2011.07.001>.
- [2] Owens J, Gruber R, Brown T, et al. Future research directions in sleep and ADHD: report of a consensus working group. *J Atten Disord* 2013;17(7):550–64. <https://doi.org/10.1177/1087054712457992>.
- [3] Becker SP, Langberg JM, Eadeh HM, Isaacson PA, Bourchtein E. Sleep and daytime sleepiness in adolescents with and without ADHD: differences across ratings, daily diary, and actigraphy. *JCPP (J Child Psychol Psychiatry)* 2019;60(9):1021–31. <https://doi.org/10.1111/jcpp.13061>.
- [4] Cortese S, Faraone SV, Konofal E, Lecendreau M. Sleep in children with attention-deficit/hyperactivity disorder: meta-analysis of subjective and objective studies. *J Am Acad Child Adolesc Psychiatry* 2009;48(9):894–908. <https://doi.org/10.1097/CHI.0b013e3181ac09c9>.
- [5] Weiss MD, Salpekar J. Sleep problems in the child with attention-deficit hyperactivity disorder: defining aetiology and appropriate treatments. *CNS Drugs* 2010;24(10):811–28. <https://doi.org/10.2165/11538990-000000000-00000>.
- [6] Noble GS, O’Laughlin L, Brubaker B. Attention deficit hyperactivity disorder and sleep disturbances: consideration of parental influence. *Behav Sleep Med* 2011;10(1):41–53. <https://doi.org/10.1080/15402002.2012.636274>.
- [7] Shao Y, Wang L, Ye E, et al. Decreased thalamocortical functional connectivity after 36 hours of total sleep deprivation: evidence from resting state fMRI. *PLoS One* 2013;8(10):e78830. <https://doi.org/10.1371/journal.pone.0078830>. Published 2013 Oct 25.
- [8] Turnbull K, Reid GJ, Morton JB. Behavioral sleep problems and their potential impact on developing executive function in children. *Sleep* 2013;36(7):1077–84. <https://doi.org/10.5665/sleep.2814>. Published 2013 Jul 1.
- [9] Véléz-Galarra R, Guillén-Grima F, Crespo-Eguílaz N, Sánchez-Carpintero R. Prevalence of sleep disorders and their relationship with core symptoms of inattention and hyperactivity in children with attention-deficit/hyperactivity disorder. *Eur J Paediatr Neurol* 2016;20(6):925–37. <https://doi.org/10.1016/j.ejpn.2016.07.004>.
- [10] Becker SP. ADHD and sleep: recent advances and future directions. *Curr Opin Psychol* 2020;34:50–6. <https://doi.org/10.1016/j.copsyc.2019.09.006>.
- [11] Jensen CM, Steinhausen HC. Comorbid mental disorders in children and adolescents with attention-deficit/hyperactivity disorder in a large nationwide study. *Atten Defic Hyperact Disord* 2015;7(1):27–38. <https://doi.org/10.1007/s12402-014-0142-1>.
- [12] Spencer TJ. ADHD and comorbidity in childhood. *J Clin Psychiatry* 2006;67(Suppl 8):27–31. PMID: 16961427.
- [13] Inci SB, İpci M, Akyol Ardiç U, Ercan ES. Psychiatric comorbidity and demographic characteristics of 1,000 children and adolescents with ADHD in Turkey. *J Atten Disord* 2019;23(11):1356–67. <https://doi.org/10.1177/1087054716666954>.
- [14] Melegari MG, Donfrancesco R, Sacco R, Lacerenza RM, Giallonardo M, Scandola M. Comorbidity aggregation models in children and adolescents with ADHD and direct and moderator effects of familial clinical history and psychosocial factors. *Res Dev Disabil* 2025;164:105073. <https://doi.org/10.1016/j.ridd.2025.105073>.
- [15] Bergwerff CE, Luman M, Oosterlaan J. No objectively measured sleep disturbances in children with attention-deficit/hyperactivity disorder. *J Sleep Res* 2016;25(5):534–40. <https://doi.org/10.1111/jsr.12399>.
- [16] Marten F, Keuppens L, Baeyens D, et al. Co-occurring mental health problems in adolescents with ADHD and sleep problems. *Sleep Med* 2025;126:107–13. <https://doi.org/10.1016/j.sleep.2024.12.008>.
- [17] Lycett K, Sciberras E, Mensah FK, Hiscock H. Behavioral sleep problems and internalizing and externalizing comorbidities in children with attention-deficit/hyperactivity disorder. *Eur Child Adolesc Psychiatry* 2015;24(1):31–40. <https://doi.org/10.1007/s00787-014-0530-2>.
- [18] Frick MA, Meyer J, Isaksson J. The role of comorbid symptoms in perceived stress and sleep problems in adolescent ADHD. *Child Psychiatry Hum Dev* 2023;54(4):1141–51. <https://doi.org/10.1007/s10578-022-01320-z>.
- [19] Virring A, Lambek R, Jennum PJ, Møller LR, Thomsen PH. Sleep problems and daily functioning in children with ADHD: an investigation of the role of impairment, ADHD presentations, and psychiatric comorbidity. *J Atten Disord* 2017;21(9):731–40. <https://doi.org/10.1177/1087054714542001>.
- [20] Quach JL, Nguyen CD, Williams KE, Sciberras E. Bidirectional associations between child sleep problems and internalizing and externalizing difficulties from preschool to early adolescence. *JAMA Pediatr* 2018;172(2):e174363. <https://doi.org/10.1001/jamapediatrics.2017.4363>.
- [21] McRae E, Stoppelbein L, O’Kelley S, Fite P, Smith S. Comorbid internalizing and externalizing symptoms among children with ADHD: the influence of parental distress, parenting practices, and child routines. *Child Psychiatry Hum Dev* 2020;51(5):813–26. <https://doi.org/10.1007/s10578-020-01019-z>.
- [22] Melegari MG, Muratori P, Bruni O, Donolato E, Giallonardo M, Mammarella I. Externalizing and internalizing behaviors in children with ADHD during lockdown for COVID-19: the role of parental emotions, parenting strategies, and breaking lockdown rules. *Children* 2022;9(6):923. <https://doi.org/10.3390/children9060923>. Published 2022 Jun 20.
- [23] Bruni O, Giallonardo M, Sacco R, Ferri R, Melegari MG. The impact of lockdown on sleep patterns of children and adolescents with ADHD. *J Clin Sleep Med* 2021;17(9):1759–65. <https://doi.org/10.5664/jcs.m.9296>.
- [24] Melegari MG, Giallonardo M, Sacco R, Maruccelli L, Orecchio S, Bruni O. Identifying the impact of the confinement of Covid-19 on emotional-mood and

- behavioural dimensions in children and adolescents with attention deficit hyperactivity disorder (ADHD). *Psychiatry Res* 2021;296:113692. <https://doi.org/10.1016/j.psychres.2020.113692>.
- [25] Melegari MG, Ferri R, Giallonardo M, Donfrancesco R, Bruni O. Changes in sleep duration and disturbances during Covid-19 lockdown and internalizing-externalizing behaviors in children with attention deficit hyperactivity disorders. *Sleep Med* 2023;101:183–9. <https://doi.org/10.1016/j.sleep.2022.11.001>.
- [26] Melegari MG, Donfrancesco R, Sacco R, Lacerenza RM, Giallonardo M, Scandola M. Comorbidity aggregation models in children and adolescents with ADHD and direct and moderator effects of familial clinical history and psychosocial factors. *Res Dev Disabil* 2025;164:105073. <https://doi.org/10.1016/j.ridd.2025.105073>.
- [27] Bruni O, Ottaviano S, Guidetti V, et al. The Sleep Disturbance Scale for Children (SDSC) construct ion and validation of an instrument to evaluate sleep disturbances in childhood and adolescence. *J Sleep Res* 1996;5:251e61. <https://doi.org/10.1111/j.1365-2869.1996.00251.x>.
- [28] Magnus BE, Liu Y. Symptom presence and symptom severity as unique indicators of psychopathology: an application of multidimensional zero-inflated and hurdle graded response models. *Educ Psychol Meas* 2022;82(5):938–66. <https://doi.org/10.1177/00131644211061820>.
- [29] Muthén B. Contributions to factor analysis of dichotomous variables. *Psychometrika* 1978;43(4):551–60. <https://doi.org/10.1007/BF02293813>.
- [30] Achenbach TM, Rescorla LA. *Manual for the ASEBA Preschool Forms & Profiles*. Burlington: University of Vermont, Research Center for Children, Youth & Families; 2000.
- [31] Frigerio A. ASEBA (Achenbach System of Empirically Based Assessment) Questionario sul Comportamento Del Bambino [Questionnaire On Child Behaviour]. Istituto Scientifico “E. Medea”, Assoc. “La Sacra Famiglia”. Bosisio Parini, Italy; 2001.
- [32] Frick PJ. The Alabama parenting questionnaire. Unpublished Rating Scale. University of Alabama. 1991. <https://doi.org/10.1037/t58031-000>.
- [33] Haskett ME, Ahern LS, Ward CS, Allaire JC. Factor structure and validity of the parenting stress index-short form. *J Clin Child Adolesc Psychol* 2006;35(2):302–12. https://doi.org/10.1207/s15374424jccp3502_14.
- [34] Berry JO, Jones WH. The Parental Stress Scale: initial psychometric evidence. *J Soc Pers Relat* 1996;12(3):463–72. <https://doi.org/10.1177/0265407595123009>.
- [35] R Core Team R. A Language and environment for statistical computing. R Foundation for Statistical Computing; 2024. <https://www.R-project.org/>.
- [36] Kim-Spoon J, Cicchetti D, Rogosch FA. A longitudinal study of emotion regulation, emotion lability-negativity, and internalizing symptomatology in maltreated and nonmaltreated children. *Child Dev* 2013;84(2):512–27. <https://doi.org/10.1111/j.1467-8624.2012.01857.x>.
- [37] Tingley D, Yamamoto T, Hirose K, Keele L, Imai K. Mediation: r package for causal mediation analysis. *J Stat Software* 2014;59(5):1–38. <https://doi.org/10.18637/jss.v059.i05>.
- [38] Ivanenko A, Crabtree VM, O'Brien LM, Gozal D. Sleep complaints and psychiatric symptoms in children evaluated at a pediatric mental health clinic. *J Clin Sleep Med* 2006;2(1):42–8.
- [39] Pullen SJ, Wall CA, Angstman ER, Munitz GE, Kotagal S. Psychiatric comorbidity in children and adolescents with restless legs syndrome: a retrospective study. *J Clin Sleep Med* 2011;7(6):587–96. <https://doi.org/10.5664/jcsm.1456>.
- [40] El-Sheikh M, Kelly RJ, Buckhalt JA, Benjamin Hinnant J. Children's sleep and adjustment over time: the role of socioeconomic context. *Child Dev* 2010;81(3):870–83. <https://doi.org/10.1111/j.1467-8624.2010.01439.x>.
- [41] Sciberras E, Hiscock H, Cortese S, Becker SP, Fernando JW, Mulraney M. Variation in sleep profiles in children with ADHD and associated clinical characteristics. *JCPP (J Child Psychol Psychiatry)* 2023;64(10):1462–9. <https://doi.org/10.1111/jcpp.13835>.
- [42] Willoughby MT, Angold A, Egger HL. Parent-reported attention-deficit/hyperactivity disorder symptomatology and sleep problems in a preschool-age pediatric clinic sample. *J Am Acad Child Adolesc Psychiatry* 2008;47(9):1086–94. <https://doi.org/10.1097/CHI.0b013e31817eed1b>.
- [43] Mesman J, Bongers IL, Koot HM. Preschool developmental pathways to preadolescent internalizing and externalizing problems. *JCPP (J Child Psychol Psychiatry)* 2001;42(5):679–89.
- [44] Kouros CD, El-Sheikh M. Daily mood and sleep: reciprocal relations and links with adjustment problems. *J Sleep Res* 2015;24(1):24–31. <https://doi.org/10.1111/jsr.12226>.
- [45] Lamoureux VA, Glenn AL, Ling S, Raine A, Ang RP, Fung D. The role of anxiety and callous-unemotional traits in the relationship between externalizing behaviors and sleep problems in clinic-referred youth. *Clin Child Psychol Psychiatr* 2023;28(2):654–67. <https://doi.org/10.1177/13591045221076643>.
- [46] Mulraney M, Giallo R, Lycett K, Mensah F, Sciberras E. The bidirectional relationship between sleep problems and internalizing and externalizing problems in children with ADHD: a prospective cohort study. *Sleep Med* 2016;17:45–51. <https://doi.org/10.1016/j.sleep.2015.09.019>.
- [47] Van Dyk TR, Simmons DM, Durracio K, Becker SP, Byars KC. The role of psychiatric symptoms, sociodemographic factors, and baseline sleep variables on pediatric insomnia treatment outcomes in a clinically referred population. *J Clin Sleep Med* 2024;20(11):1727–38. <https://doi.org/10.5664/jcsm.11232>.
- [48] Van Dyk TR, Becker SP, Byars KC. Rates of mental health symptoms and associations with self-reported sleep quality and sleep hygiene in adolescents presenting for insomnia treatment. *J Clin Sleep Med* 2019;15(10):1433–42. <https://doi.org/10.5664/jcsm.7970>.
- [49] Becker SP, Cusick CN, Sidol CA, Epstein JN, Tamm L. The impact of comorbid mental health symptoms and sex on sleep functioning in children with ADHD. *Eur Child Adolesc Psychiatr* 2018;27(3):353–65. <https://doi.org/10.1007/s00787-017-1055-2>.
- [50] Armstrong JM, Ruttle PL, Klein MH, Essex MJ, Benca RM. Associations of child insomnia, sleep movement, and their persistence with mental health symptoms in childhood and adolescence. *Sleep* 2014;37(5):901–9. <https://doi.org/10.5665/sleep.3656>. Published 2014 May 1.
- [51] Van Someren EJW. Brain mechanisms of insomnia: new perspectives on causes and consequences. *Physiol Rev* 2021;101(3):995–1046. <https://doi.org/10.1152/physrev.00046.2019>.
- [52] van Tetering EMA, Mies GW, Klip H, et al. The relationship between sleep difficulties and externalizing and internalizing problems in children and adolescents with mental illness. *J Sleep Res* 2025;34(3):e14398. <https://doi.org/10.1111/jsr.14398>.
- [53] Evren B, Evren C, Dalbudak E, Topcu M, Kutlu N. The impact of depression, anxiety, neuroticism, and severity of internet addiction symptoms on the relationship between probable ADHD and severity of insomnia among young adults. *Psychiatry Res* 2019;271:726–31. <https://doi.org/10.1016/j.psychres.2018.12.010>.
- [54] Hammerschlag AR, Stringer S, de Leeuw CA, et al. Genome-wide association analysis of insomnia complaints identifies risk genes and genetic overlap with psychiatric and metabolic traits. *Nat Genet* 2017;49(11):1584–92. <https://doi.org/10.1038/ng.3888>.
- [55] Jami ES, Hammerschlag AR, Ip HF, et al. Genome-wide Association meta-analysis of childhood and adolescent internalizing symptoms. *J Am Acad Child Adolesc Psychiatry* 2022;61(7):934–45. <https://doi.org/10.1016/j.jaac.2021.11.035>.
- [56] Gregory AM, Rijdsdijk FV, Eley TC, et al. A longitudinal twin and sibling Study of associations between insomnia and depression symptoms in young adults. *Sleep* 2016;39(11):1985–92. <https://doi.org/10.5665/sleep.6228>. Published 2016 Nov 1.
- [57] Hein M, Lanquart JP, Loas G, Hubain P, Linkowski P. Similar polysomnographic pattern in primary insomnia and major depression with objective insomnia: a sign of common pathophysiology? *BMC Psychiatry* 2017;17(1):273. <https://doi.org/10.1186/s12888-017-1438-4>. Published 2017 Jul 28.
- [58] Liu X, Chen H, Liu ZZ, Jia CX. Insomnia and psychopathological features associated with restless legs syndrome in Chinese adolescents. *J Clin Psychiatry* 2018;79(1):16m11358. <https://doi.org/10.4088/JCP.16m11358>.
- [59] Li SH, Corkish B, Richardson C, Christensen H, Werner-Seidler A. The role of rumination in the relationship between symptoms of insomnia and depression in adolescents. *J Sleep Res* 2024;33(2):e13932. <https://doi.org/10.1111/jsr.13932>.
- [60] Forbes EE, Williamson DE, Ryan ND, Birmaher B, Axelson DA, Dahl RE. Perisleep-onset cortisol levels in children and adolescents with affective disorders. *Biol Psychiatry* 2006;59(1):24–30. <https://doi.org/10.1016/j.biopsych.2005.06.002>.
- [61] Peterman JS, Carper MM, Kendall PC. Anxiety disorders and comorbid sleep problems in school-aged youth: review and future research directions. *Child Psychiatr Hum Dev* 2015;46(3):376–92. <https://doi.org/10.1007/s10578-014-0478-y>.
- [62] Fernandez-Mendoza J, Calhoun SL, Vgontzas AN, et al. Insomnia phenotypes based on objective sleep duration in adolescents: depression risk and differential behavioral profiles. *Brain Sci* 2016;6(4):59. <https://doi.org/10.3390/brainsci6040059>. Published 2016 Dec 13.
- [63] Calhoun SL, Fernandez-Mendoza J, Vgontzas AN, Mayes SD, Liao D, Bixler EO. Behavioral profiles associated with objective sleep duration in young children with insomnia symptoms. *J Abnorm Child Psychol* 2017;45(2):337–44. <https://doi.org/10.1007/s10802-016-0166-4>.
- [64] Becker SP, Tamm L, Epstein JN, Beebe DW. Impact of sleep restriction on affective functioning in adolescents with attention-deficit/hyperactivity disorder. *JCPP (J Child Psychol Psychiatry)* 2020;61(10):1160–8. <https://doi.org/10.1111/jcpp.13235>.
- [65] Biancardi C, Sesso G, Masi G, Faraguna U, Sicca F. Sleep EEG microstructure in children and adolescents with attention deficit hyperactivity disorder: a systematic review and meta-analysis. *Sleep* 2021;44(7). <https://doi.org/10.1093/sleep/zsab006>.
- [66] Gaultney JF, Merchant K, Gingras JL. Parents of children with periodic limb movement disorder versus sleep-disordered breathing report greater daytime mood and behavior difficulties in their child: the importance of using ICSD-2nd Edition criteria to define a PLMD study group. *Behav Sleep Med* 2009;7(3):119–35. <https://doi.org/10.1080/15402000902976655>.
- [67] Cortese S, Konofal E, Lecendreux M, et al. Restless legs syndrome and attention-deficit/hyperactivity disorder: a review of the literature. *Sleep* 2005;8:1007–13.
- [68] Souto-Souza D, Mourão PS, Barroso HH, et al. Is there an association between attention deficit hyperactivity disorder in children and adolescents and the occurrence of bruxism? A systematic review and meta-analysis. *Sleep Med Rev* 2020;53:101330. <https://doi.org/10.1016/j.smrv.2020.101330>.
- [69] Kapoor V, Ferri R, Stein MA, Ruth C, Reed J, DelRosso LM. Restless sleep disorder in children with attention-deficit/hyperactivity disorder. *J Clin Sleep Med* 2021;17(4):639–43. <https://doi.org/10.5664/jcsm.8984>.
- [70] Ghayad T, Mungo A, Hein M. Prevalence and clinical impact of restless legs syndrome in pediatric populations with Attention-Deficit/Hyperactivity disorder: a systematic review. *Clocks Sleep* 2025;7(3):50. <https://doi.org/10.3390/clocksleep7030050>. Published 2025 Sep. 17.
- [71] DelRosso LM, Mogavero MP, Baroni A, Bruni O, Ferri R. Restless legs syndrome in children and adolescents. *Psychiatr Clin* 2024;47(1):147–61. <https://doi.org/10.1016/j.psc.2023.06.010>.

- [72] An T, Sun H, Yuan L, Wu X, Lu B. Associations of anxiety and depression with restless leg syndrome: a systematic review and meta-analysis. *Front Neurol* 2024; 15:1366839. <https://doi.org/10.3389/fneur.2024.1366839>. Published 2024 Mar 18.
- [73] Frye SS, Fernandez-Mendoza J, Calhoun SL, Vgontzas AN, Liao D, Bixler EO. Neurocognitive and behavioral significance of periodic limb movements during sleep in adolescents with attention-deficit/hyperactivity disorder. *Sleep* 2018;41(10). <https://doi.org/10.1093/sleep/zsy129>. zsy129.
- [74] Silvestri R, Gagliano A, Aricò I, et al. Sleep disorders in children with Attention-Deficit/Hyperactivity Disorder (ADHD) recorded overnight by video-polysomnography. *Sleep Med* 2009;10(10):1132–8. <https://doi.org/10.1016/j.sleep.2009.04.003>.
- [75] Picchietti MA, Picchietti DL. Advances in pediatric restless legs syndrome: iron, genetics, diagnosis and treatment. *Sleep Med* 2010;11(7):643–51. <https://doi.org/10.1016/j.sleep.2009.11.014>.
- [76] Konofal E, Lecendreux M, Arnulf I, Mouren M. Iron deficiency in children with Attention-Deficit/Hyperactivity disorder. *Arch Pediatr Adolesc Med* 2004;158(12):1113–5. <https://doi.org/10.1001/archpedi.158.12.1113>.
- [77] Fiani D, Engler S, Fields S, Calarge CA. Iron deficiency in attention-deficit hyperactivity disorder, autism spectrum disorder, internalizing and externalizing disorders, and movement disorders. *Child Adolesc Psychiatr Clin N Am* 2023;32(2):451–67. <https://doi.org/10.1016/j.chc.2022.08.015>.
- [78] Forsberg H, Fernell E, Waters S, Waters N, Tedroff J. Altered pattern of brain dopamine synthesis in male adolescents with attention deficit hyperactivity disorder. *Behav Brain Funct* 2006;2:40. <https://doi.org/10.1186/1744-9081-2-40>. Published 2006 Dec 4.
- [79] Adisetiyo V, Jensen JH, Tabesh A, Deardorff RL, Fieremans E, Di Martino A, et al. Multimodal MR imaging of brain iron in attention deficit hyperactivity disorder: a noninvasive biomarker that responds to psychostimulant treatment? *Radiology* 2014;272(2):524–32.
- [80] Walters AS, Mandelbaum DE, Lewin DS, Kugler S, England SJ, Miller M. Dopaminergic therapy in children with restless legs/periodic limb movements in sleep and ADHD. Dopaminergic Therapy Study Group. *Pediatr Neurol* 2000;22(3):182–6. [https://doi.org/10.1016/s0887-8994\(99\)00152-6](https://doi.org/10.1016/s0887-8994(99)00152-6).
- [81] Marchand WR. Cortico-basal ganglia circuitry: a review of key research and implications for functional connectivity studies of mood and anxiety disorders. *Brain Struct Funct* 2010;215(2):73–96. <https://doi.org/10.1007/s00429-010-0280-y>.
- [82] Cador M, Robbins TW, Everitt BJ. Involvement of the amygdala in stimulus-reward associations: interaction with the ventral striatum. *Neuroscience* 1989;30(1):77–86. [https://doi.org/10.1016/0306-4522\(89\)90354-0](https://doi.org/10.1016/0306-4522(89)90354-0).
- [83] Hochadel J, Frölich J, Wiater A, Lehmkuhl G, Fricke-Oerkemann L. Prevalence of sleep problems and relationship between sleep problems and school refusal behavior in school-aged children in children's and parents' ratings. *Psychopathology* 2014;47(2):119–26. <https://doi.org/10.1159/000345403>.
- [84] Petit D, Touchette E, Tremblay RE, Boivin M, Montplaisir J. Dyssomnias and parasomnias in early childhood. *Pediatrics* 2007;119:e1016–25.
- [85] Li SX, Yu MWM, Lam SP, et al. Frequent nightmares in children: familial aggregation and associations with parent-reported behavioral and mood problems. *Sleep* 2011;34(4):487. <https://doi.org/10.1093/sleep/34.4.487>.
- [86] Laganière C, Gaudreau H, Pokhvisneva I, et al. Sleep terrors in early childhood and associated emotional-behavioral problems. *J Clin Sleep Med* 2022;18(9):2253–60. <https://doi.org/10.5664/jcsm.10080>.
- [87] Castelnovo A, Turner K, Rossi A, et al. Behavioural and emotional profiles of children and adolescents with disorders of arousal. *J Sleep Res* 2021;30(1):e13188. <https://doi.org/10.1111/jsr.13188>.
- [88] Stringaris A, Goodman R. Longitudinal outcome of youth oppositionality: irritable, headstrong, and hurtful behaviors have distinctive predictions. *J Am Acad Child Adolesc Psychiatry* 2009;48(4):404–12. <https://doi.org/10.1097/CHI.0b013e3181984f30>.
- [89] Sonuga-Barke EJ, Cortese S, Fairchild G, Stringaris A. Annual Research Review: transdiagnostic neuroscience of child and adolescent mental disorders—differentiating decision making in attention-deficit/hyperactivity disorder, conduct disorder, depression, and anxiety. *JCPP (J Child Psychol Psychiatry)* 2016 Mar;57(3):321–49. <https://doi.org/10.1111/jcpp.12496>.
- [90] Sciberras E, Song JC, Mulraney M, Schuster T, Hiscok H. Sleep problems in children with attention-deficit hyperactivity disorder: associations with parenting style and sleep hygiene. *Eur Child Adolesc Psychiatr* 2017;26(9):1129–39. <https://doi.org/10.1007/s00787-017-1000-4>.
- [91] Coto J, Garcia A, Hart KC, Graziano PA. Associations between disruptive behavior problems, parenting factors, and sleep problems among young children. *J Dev Behav Pediatr* 2018;39(8):610–20. <https://doi.org/10.1097/DBP.0000000000000595>.
- [92] Ellis B, Nigg J. Parenting practices and attention-deficit/hyperactivity disorder: new findings suggest partial specificity of effects. *J Am Acad Child Adolesc Psychiatry* 2009;48(2):146–54. <https://doi.org/10.1097/CHI.0b013e31819176d0>.
- [93] Deater-Deckard K. Family matters: intergenerational and interpersonal processes of executive function and attentive behavior. *Curr Dir Psychol Sci* 2014;23(3):230–6. <https://doi.org/10.1177/0963721414531597>.
- [94] Martel MM, Roberts B, Gremillion M, von Eye A, Nigg JT. External validation of bifactor model of ADHD: explaining heterogeneity in psychiatric comorbidity, cognitive control, and personality trait profiles within DSM-IV ADHD. *J Abnorm Child Psychol* 2011;39(8):1111–23. <https://doi.org/10.1007/s10802-011-9538-y>.
- [95] Weeland J, Overbeek G, de Castro BO, Matthys W. Underlying mechanisms of gene-environment interactions in externalizing behavior: a systematic review and search for theoretical mechanisms. *Clin Child Fam Psychol Rev* 2015;18(4):413–42. <https://doi.org/10.1007/s10567-015-0196-4>.
- [96] Stocker CM, Masarik AS, Widaman KF, et al. Parenting and adolescents' psychological adjustment: longitudinal moderation by adolescents' genetic sensitivity. *Dev Psychopathol* 2017;29(4):1289–304. <https://doi.org/10.1017/S0954579416001310>.
- [97] Cubillo A, Halari R, Smith A, Taylor E, Rubia K. A review of fronto-striatal and fronto-cortical brain abnormalities in children and adults with Attention Deficit Hyperactivity Disorder (ADHD) and new evidence for dysfunction in adults with ADHD during motivation and attention. *Cortex* 2012;48(2):194–215. <https://doi.org/10.1016/j.cortex.2011.04.007>.
- [98] Hatfield E, Cacioppo JT, Rapson RL. Emotional contagion. Cambridge University Press; 1994.
- [99] Feldman R. Parent-infant synchrony and the construction of shared timing: physiological precursors, developmental outcomes, and risk conditions. *JCPP (J Child Psychol Psychiatry)* 2007;48(3–4):329–54. <https://doi.org/10.1111/j.1469-7610.2006.01701.x>.
- [100] Waters SF, West TV, Mendes WB. Stress contagion: physiological covariation between mothers and infants. *Psychol Sci* 2014;25(4):934–42. <https://doi.org/10.1177/0956797613518352>.
- [101] Batson CD, Early S, Salvarani G. Perspective taking: imagining how another feels versus imagining how you would feel. *Pers Soc Psychol Bull* 1997;23(7):751–8. <https://doi.org/10.1177/0146167297237008>.
- [102] Davis MH, Luce C, Kraus SJ. The heritability of characteristics associated with dispositional empathy. *J Pers* 1994;62(3):369–91. <https://doi.org/10.1111/j.1467-6494.1994.tb00302.x>.
- [103] Thompson RA. Stress and child development. *Future Child* 2014;24(1):41–59. <https://doi.org/10.1353/foc.2014.0004>.
- [104] McLaughlin KA, Peverill M, Gold AL, Alves S, Sheridan MA. Childhood adversity and neural development: deprivation and threat as distinct dimensions of early experience. *Neurosci Biobehav Rev* 2015;47:578–91. <https://doi.org/10.1016/j.neubiorev.2014.10.012>.
- [105] Guilleminault C, Palombini L, Pelayo R, Chervin RD. Sleepwalking and sleep terrors in prepubertal children: what triggers them? *Pediatrics* 2003;111(1):e17–25. <https://doi.org/10.1542/peds.111.1.e17>.
- [106] Castelnovo A, Lopez R, Proserpio P, Nobili L, Dauvilliers Y. NREM sleep parasomnias as disorders of sleep-state dissociation. *Nat Rev Neurol* 2018;14(8):470–81. <https://doi.org/10.1038/s41582-018-0030-y>.
- [107] Davis MH, Luce C, Kraus SJ. The heritability of characteristics associated with dispositional empathy. *J Pers* 1994;62(3):369–91. <https://doi.org/10.1111/j.1467-6494.1994.tb00302.x>.
- [108] Fredrickson BL. Cultivated emotions: parental socialization of positive emotions and self-conscious emotions. *Psychol Inq* 1998;9(4):279–81. https://doi.org/10.1207/s15327965pli0904_4.
- [109] Buckholdt KE, Parra GR, Jobe-Shields L. Intergenerational transmission of emotion dysregulation through parental invalidation of emotions: implications for adolescent internalizing and externalizing behaviors. *J Child Fam Stud* 2014; 23:324–32. <https://doi.org/10.1007/s10826-013-9768-4>.
- [110] Pizzo A, Sandstrom A, Drobinin V, Propper L, Uher R, Pavlova B. Parental overprotection and sleep problems in young children. *Child Psychiatr Hum Dev* 2022;53(6):1340–8. <https://doi.org/10.1007/s10578-021-01199-2>.
- [111] Ye H, Jiang N, He S, Fan F. Sleep disturbance and internalizing symptoms in adolescents: a moderated mediation model of self-control and mindfulness. *BMC Psychiatry* 2024;24(1):310. <https://doi.org/10.1186/s12888-024-05750-y>. Published 2024 Apr 24.
- [112] Wang J, Liu RD, Lin J. The effect of parental psychological flexibility on children's behavioral problems: a moderated mediation model. *Child Adolesc Psychiatr Ment Health* 2025;19(1):8. <https://doi.org/10.1186/s13034-025-00863-y>. Published 2025 Feb 13.
- [113] Dong HY, Miao CY, Xue Y, et al. Sleep and internalizing problems in primary school children with attention-deficit hyperactivity disorder. *Pediatr Res* 2024;96(4):1021–9. <https://doi.org/10.1038/s41390-024-03213-4>.
- [114] Zhao J, Cui N, Li Y, et al. Relationship between screen use and internalizing/externalizing problems among preschoolers: the mediation of circadian rhythm. *Pediatr Res* 2025;98(4):1331–8. <https://doi.org/10.1038/s41390-025-03944-y>.